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, Chain Rule Practice
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In 1-4, derlve each function. ouwt I'ln!
1. y = 2xsin(3x 2. y = tan(cosx)
i predud

S . -

\3‘-: Sn(3n): 2 + 2x- 9+ c0s(3x) W3 =SinX K< (cos x}
ST F % 9’ [?L’ =SinX suz(ccsy)(

\5' s 280 3% + (onecos 3x

(1)

X
e ™
3. f(x)=V3x2+2x+1 PM*- 4. g(x) = (%’ﬂl
(M) ' 6) _{SnnY(ginx) = ( 1-cesxXcosx) ( \-cojg.\z
3 " (s“\,‘) ' 3 Sinx
£'00: «o’H ?-:2' (3¢ -ﬂx-*\) 2 SNTX ~cosx +Co8 X, (1-cosdt

N (Sinxy 2 '3 (SinX)?
. \;‘:'(&): @xﬂ)(’sx“a-?.x-“) - | =coy X .3 ¢l~cosx)
Sin® X Sintx (3}~ msx\w
3( l-cosxl (

= Hcosx)"
(1 =ces? XX l-cos’ x)
(I-casx
(+C05X
S. F1ndanequat10n of the line tangent to the graph of f (x) _xﬂl 295)3l att epomt (1 é)
=%, = v (x- X,) ! et |- 23
u-\-\'-'l(x-:)] Fooz (1- 2’0 o+ m2 i

2(-25) = Gx(1-2%)’
$'0): (ve2aP - 61 (1-20Y
: (-1)}e ()
-l =06
-1
'

6. If y = 2cos @, then fin Z—g—.f""'l"d dari Leor,
'w o e
w # 3 -28in(%) .
. 2 - S\n(é} @
2
%3: 'é LoS(E)




